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Test Booklet No. Test Booklet Code 

BN/LABIHE/6/21 

 

MEDIUM : BENGALI + ENGLISH 

 

[>ìƒ¢Åà¤ºã 
INSTRUCTIONS  

1. &Òü šøÅ— šy šå[ÑzA¡à[i¡ìt¡ W¡à¹[i¡ [¤®¡àK "àìá ú [¤®¡àK ‘‘A¡’’ "S¡, ë™Jàì> šø[t¡[i¡ 3 >´¬ì¹¹  
50 [i¡ šøÅ— "àìá ú [¤®¡àK ‘‘J’’ Îà‹à¹o `¡à>, [¤®¡àK ‘‘K’’ ®¡àÈà &¤} [¤®¡àK ‘‘Q’’ ¤å[‡ý¡³v¡à  
(Òüì–i¡[ºì\X) ë™Jàì> šø[t¡[i¡ 2 >´¬ì¹¹ 25 [i¡ šøÅ— "àìá ú Î¤ [³[ºìÚ, šy[i¡ìt¡ ì³ài¡  
300 >´¬ì¹¹ \>¸ 125 [i¡ šøÅ— "àìá ú Î³Ñz šøìÅ—¹ l¡üv¡¹ [ƒ> ú 

 This Question Paper Booklet contains four Sections. Section ‘‘A’’ Mathematics contains  

50 questions of 3 marks each. Section ‘‘B’’ General Knowledge, Section ‘‘C’’ Language 

and Section ‘‘D’’ Intelligence contain 25 questions of 2 marks per question. In all, the 

paper consists of 125 questions for a total of 300 marks. Answer all questions.   

2. [¤®¡àK ‘‘K’’, ®¡àÈà[®¡[v¡A¡ &¤} &[i¡ [>¤¢à[W¡t¡ ®¡àÈàÚ l¡üv¡¹ [ƒìt¡ Òì¤ ú (šøà=¢ãìƒ¹ [>³—[º[Jt¡  
13 [i¡ ®¡àÈà¹ ³ì‹¸ ë=ìA¡ &A¡[i¡ ë¤ìá [>ìt¡ Òì¤ : Òü}ì¹[\, t¡à[³º, ³àºàÚàº³, ët¡ìºP¡, 
A¡Äl¡, ³à¹à[k¡, P¡\¹à[i¡, [Ò[–ƒ, l¡üƒå¢, l¡ü[Øl¡Úà, "Î[³Úà, šàgà[¤ &¤} ¤à}ºà ú)  

 Section ‘‘C’’ is language specific and is to be attempted in the chosen language. 

(Candidates were required to choose any of the following 13 languages : English, 

Tamil, Malayalam, Telugu, Kannada, Marathi, Gujarati, Hindi, Urdu, Odiya, 

Assamese, Punjabi and Bengali.) 

3. š¹ãÛ¡à[i¡¹ Î³ÚÎã³à 2 Q–i¡à 30 [³[>i¡ (150 [³[>i¡) ú 
 The test is of 2 hours and 30 minutes (150 minutes) duration.  

4. ™à¹à [>[ƒ¢Ê¡ ®¡àÈà ë¤ìá [>ìÚìá> t¡àìƒ¹ \>¸ šøÅ— šy šå[ÑzA¡à[i¡ "àš>à¹ šøì¤Å šy [>[ƒ¢Ê¡ &¤} 
[>¤¢à[W¡t¡ ®¡àÈà &¤} Òü}ì¹[\ìt¡ Òì¤ ú š¹ãÛ¡à¹ ìA¡à>* šøìÅ—¹ ">å¤àƒ/[>³¢àìo ë™ ìA¡à>* 
"ÑšÊ¡t¡à¹ ëÛ¡ìy &¹ Òü}ì¹[\ Î}ÑH¹o (®¡àÈà [¤®¡àìK¹ šøÅ—P¡[º ¤àìƒ) Wè¡Øl¡à”z [ÒÎàì¤ Ko¸  
Òì¤ ú 

 The Question Paper Booklet for those who have opted for any of the specified 

languages would be in the language opted and indicated on the Admit Card and in 

English. In case of any ambiguity in translation/construction of a question in the exam, 

its English version (except for the Language section questions) shall be treated as 

final. 
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5. šøÅ— šy šå[ÑzA¡à[i¡ìt¡ 32 šõË¡à "àìá ú ">åNøÒ A¡ì¹ šøÅ— šy[i¡ Î´šèo¢ &¤} ëÎ[i¡ìt¡ Î³Ñz šõË¡à 

"àìá [A¡>à t¡à ëW¡A¡ A¡ì¹ [>[ÆW¡t¡ A¡¹ç¡> ú  
 The Question Paper Booklet is of 32 pages. Please check and ensure that the Question 

Paper Booklet is complete and contains all the pages. 

6. OMR  l¡üv¡¹šìy Î³Ñz šøìÅ—¹ l¡üv¡¹ [ƒ> ú 
  Answer all questions in the OMR Answer Sheet only. 

7. &Òü šøÅ— šy šå[ÑzA¡à¹ [®¡t¡ì¹ OMR l¡üv¡¹šy ¹ìÚìá ú "àš>àìA¡ ™J> šøÅ— šy šå[ÑzA¡à[i¡ 

ìJàºà¹ [>ìƒ¢Å ëƒ*Úà Òì¤, t¡J> OMR l¡üv¡¹šy[i¡ ë¤¹ A¡¹ì¤> &¤} [¤Åƒ Îà¤‹àì> ëA¡¤º 

>ãº/A¡àìºà ¤º šìÚ–i¡ ëš> [ƒìÚ šè¹o A¡¹ì¤> ú 

  The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed 

to open the Question Paper Booklet, take out the OMR Answer Sheet and fill the 

particulars carefully with blue/black ball point pen only. 

8. šø[t¡[i¡ šøìÅ—¹ "àš>à¹ l¡üv¡ì¹¹ \>¸ &A¡[i¡ ³ày ¤õv¡ A¡àìºà A¡¹ç¡> ú "àš[> ™[ƒ *Òü šøìÅ¥¹ \>¸ 

&A¡à[‹A¡ ¤õv¡ A¡àìºà A¡ì¹> t¡ì¤ "àš>à¹ l¡üv¡¹[i¡ ®å¡º Ko¸ A¡¹à Òì¤ ú 

  Darken only one circle as your answer for each question. If you darken more than one 

circle for the same question, your answer will be treated as wrong. 

9. &Jàì> ®å¡º l¡üv¡ì¹¹ \>¸ ìA¡àì>à ë>ìK[i¡®¡ ³à[A¢¡} ë>Òü ú 

  There is no negative marking for a wrong answer. 

10. OMR l¡üv¡¹šìy ìA¡àì>à "šøìÚà\>ãÚ [W¡Òû¡ ëƒì¤> >à ¤à ®ò¡à\ A¡¹ì¤> >à ¤à &[i¡ìA¡ [¤Aõ¡t¡ 

A¡¹à¹ ëW¡Ê¡à A¡¹ì¤> >à ú "àš[> ™[ƒ &[i¡ A¡ì¹> t¡ì¤ "àš>à¹ OMR l¡üv¡¹šy[i¡¹¡ ³èº¸àÚ> A¡¹à 

Òì¤ >à ú 

 Do not make unnecessary marks on the OMR Answer Sheet or fold or attempt to 

deface it. If you do so,  your OMR Answer Sheet will not be evaluated. 

11. &Òü šõË¡àÚ [¤¤¹o ëºJà¹ \>¸ &¤} l¡üv¡¹ ëºJà¹ \>¸ ëA¡¤º >ãº/A¡àìºà ¤º šìÚ–i¡ ëš> 

¤¸¤Òà¹ A¡¹ç¡> ú ëš[Xº ¤¸¤Òà¹ A¡¹ì¤> >à ú 
  Use Blue/Black Ball Point Pen only for writing particulars on this page and for writing 

answers. Do not use pencil. 
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12. OMR  l¡üv¡¹šìy >ÚØ, ëA¡¤º šøÅ— šy šå[ÑzA¡à[i¡ìt¡ &Òü l¡üì„ìÅ¸ ëƒ*Úà \àÚKàP¡[ºìt¡ ¹àó¡ 

A¡à\ A¡¹ìt¡ Òì¤ ú 

 Rough work is to be done on the space provided for this purpose in the Question Paper 

Booklet only and not on the OMR Answer Sheet. 

13. š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹, OMR l¡üv¡¹šy[i¡ Q¹/Òº ëáìØl¡ ™à*Úà¹ "àìK Òü>[®¡[\ìºi¡¹ìA¡ 

ÒÑzà”z¹ A¡¹ç¡> ú 

  On completion of the test, hand over the OMR Answer Sheet to the Invigilator before 

leaving the Room/Hall. 

14. "àš[> &Òü šøÅ— šy šå[ÑzA¡à[i¡ "àš>à¹ Îàì= [>ìÚ ë™ìt¡ šàì¹> ú  

  You are allowed to take away this Question Paper Booklet with you. 

15. &Òü šå[ÑzA¡à[i¡¹ CODE Òº A ú OMR l¡üv¡¹šìy ³å[‰t¡ CODE &¤} &Òü šøÅ— šy šå[ÑzA¡à[i¡¹ 

CODE ë™> &A¡Òü ÒÚ t¡à [>[ÆW¡t¡ A¡¹ç¡> ú ìA¡àì>à šà=¢ìA¡¸¹ ëÛ¡ìy šøÅ— šy šå[ÑzA¡à &¤} OMR 

l¡üv¡¹šy, ƒå[i¡Òü ¤ƒìº ëƒ*Úà¹ \>¸ [¤ÈÚ[i¡ "[¤ºì ¬́ Òü>[®¡[\ìºi¡¹ìA¡ \à>à> ú 
  The CODE for this Booklet is A. Make sure that the CODE printed on the OMR 

Answer Sheet is the same as that on this Question Paper Booklet. In case of 

discrepancy, report the matter immediately to the Invigilator for replacement of both 

the Question Paper Booklet and the OMR Answer Sheet.  

16. šøÅ— šy šå[ÑzA¡à/OMR l¡üv¡¹šìy [>[ƒ¢Ê¡ Ñ‚à> áàØl¡à ">¸ ìA¡à=à* "àš>à¹ ì¹àº >´¬¹[i¡ [ºJì¤> 

>à ú 

  Do not write your Roll No. anywhere else except in the specified space in the Question 

Paper Booklet/OMR Answer Sheet. 

17. OMR l¡üv¡¹šìy ìA¡à>* Î}ìÅà‹> A¡¹à¹ \>¸ Îàƒà t¡¹º (white fluid) ¤¸¤Òà¹ A¡¹ì¤> >à ú 

  Do not use white fluid for carrying out any correction on the OMR Answer Sheet. 



BN/LABIHE/6/21 4 – A 

 [¤®¡àK A¡ / SECTION A 
"S / MATHEMATICS 

1. ìA¡à> A¡àì™¢¹ "‹ãì> šèo¢ Î}J¸à "¤¹ç¡‡ý¡ (Closed) A¡¹à ÒÚ ? 

(1) [¤ìÚàK     (2) ®¡àK  
(3)  P¡o     (4) &P¡[º¹ Î¤A¡[i¡ìt¡Òü  

 Whole numbers are closed under which operation ? 

(1) Subtraction   (2) Division 

(3) Multiplication   (4) All of these 

2. 1 [³[ºÚì>¹ l¡üv¡¹Îå[¹ ìA¡à>[i¡ ? 
(1) 2 [³[ºÚ> (2) 1000001 (3) 100001 (4) 10001 

 The successor of 1 million is  

(1) 2 million (2) 1000001 (3) 100001 (4) 10001 

3. Î}J¸à ºàÒüì> (number line) O, U, S, V, R, X, W, T, P, Q &¤} Y šìÚ–i¡P¡[º Î³ƒè¹ìâ« 
"àìá ú OP íƒQ¢¸[i¡ ìA¡à> ®¡N—à}Å[i¡ ƒÅ¢àÚ ? 

 

(1)  
5

1
 (2) 

5

7
 (3) 

5

4
 (4) 

5

6
 

 The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The 

fraction represented by length OP is  

 

(1)  
5

1
 (2) 

5

7
 (3) 

5

4
 (4) 

5

6
 

4. ë™ ƒå[i¡ š¹š¹ šèo¢Î}J¸à¹ (integers) ³àc¡Jàì> 
7

5  ®¡N—à}Å[i¡ "àìÎ ëÎ ƒå[i¡ Òº    
  
 

  (1) 0 &¤} 1 (2) 5 &¤} 7 (3) 5 &¤} 6 (4) 6 &¤} 7 

 The two consecutive integers, between which the fraction 
7

5
 lies, are  

(1) 0 and 1 (2) 5 and 7 (3) 5 and 6 (4) 6 and 7 

5. [>ìW¡¹ ®¡N—à}ÅP¡[º¹ ³ì‹¸ ìA¡à>[i¡ Î¤ìW¡ìÚ ìáài¡ ? 

(1) 
5

4
 (2) 

3

5
 (3) 

6

5
 (4) 

2

5
 

 Which of the following is the smallest fraction ? 

(1) 
5

4
 (2) 

3

5
 (3) 

6

5
 (4) 

2

5
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6. ƒå[i¡ Î}J¸à¹ K.Îà.P¡. (HCF) &¤} º.Îà.P¡. (LCM) ™=àyû¡ì³ 6 &¤} 864 ú ™[ƒ &A¡[i¡ Î}J¸à 
96 ÒÚ t¡ì¤ ">¸ Î}J¸à[i¡ Jòåì\ ¤à¹ A¡¹ç¡> ú  

(1) 84 (2) 45 (3) 54 (4) 24 

 The HCF and LCM of two numbers are 6 and 864 respectively. If one number is 96, 

find the other number.  

(1) 84 (2) 45 (3) 54 (4) 24 

7. ƒå[i¡ Î}J¸à¹ K.Îà.P¡. (HCF) 12 &¤} t¡àìƒ¹ šà=¢A¡¸ 12. [>ìW¡¹ Î}J¸àP¡[º¹ ³ì‹¸ ìA¡à>P¡[º 
Òìt¡ šàì¹ ?  

     (1)  84, 96 (2) 66, 78  (3) 70, 82  (4) 62, 78 

 The HCF of two numbers is 12 and their difference is 12. Which of the following can 

be the numbers ? 

(1) 84, 96 (2) 66, 78 (3) 70, 82 (4) 62, 78 

8. Î¤ìW¡ìÚ ìáài¡ Î}J¸à[i¡ Jòåì\ ¤à¹ A¡¹ç¡> ™à 9, 12 &¤} 15 šøìt¡¸A¡[i¡ [ƒìÚÒü [¤®¡à\¸ ú 

(1) 60 (2) 90 (3) 120 (4) 180 

 Find the smallest number that is divisible by each one of 9, 12 and 15. 

(1) 60 (2) 90 (3) 120 (4) 180 

9. &A¡[i¡ [>[ƒ¢Ê¡ ¤ø¸àì“¡¹ Îà¤à>-KòåìØl¡à šø[t¡ š¸àìA¡ìi¡ ` 15 i¡àA¡àÚ [¤[yû¡ ÒÚ ú &[i¡¹ &A¡ l¡\ì>¹ 
ƒà³ ` 144 ú  8 l¡\> š¸àìA¡ìi¡ A¡t¡ Åt¡à}Å ºà®¡ =àìA¡ ? 

 (1) 20 (2) 25 (3) 24 (4) 36 

 A certain brand of soap-powder is sold at ` 15 per packet. It costs ` 144 a dozen. What 

is the profit in percent on 8 dozen packets ?  

(1) 20 (2) 25 (3) 24 (4) 36 

10. Î¤ìW¡ìÚ ¤Øl¡ Î}J¸à[i¡ Jòåì\ ¤à¹ A¡¹ç¡> ™à [ƒìÚ 37, 56, 93 ëA¡ ®¡àK A¡¹ìº ™=àyû¡ì³ 1, 2 &¤} 
3 ®¡àKìÅÈ =àA¡ì¤ ú 

(1) 9 (2) 18 (3) 15 (4) 12 

 Find the greatest number that will divide 37, 56, 93 leaving remainder 1, 2 and 3 

respectively.  

(1) 9 (2) 18 (3) 15 (4) 12 
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11. ™[ƒ 10 \> šå¹ç¡È 4 [ƒì> &A¡[i¡ A¡à\ A¡¹ìt¡ šàì¹ t¡àÒìº &A¡Òü A¡à\ 5 [ƒì> A¡¹à¹ \>¸ 
A¡t¡\> šå¹ç¡ìÈ¹ šøëÚà\> Òì¤ ? 

(1) 10 (2) 8 (3) 40 (4) 12 

 If 10 men can do a piece of work in 4 days, how many men will be required to get the 

same work done in 5 days ? 

(1) 10 (2) 8 (3) 40 (4) 12 

12. 21 [i¡ áàKº 15 [i¡ K¹ç¡¹ Î³à> Jà¤à¹ JàÚ ú A¡t¡P¡[º áàKº 35 [i¡ K¹ç¡¹ Î³à> Jà¤à¹ JàÚ ? 

(1) 38 (2) 49 (3) 37 (4) 41 

 21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ? 

(1) 38 (2) 49 (3) 37 (4) 41 

13. &A¡\> ë³A¡à[>A¡ 9 [i¡ Kà[Øl¡ìt¡¡ ` 36,000 "àÚ A¡ì¹ ú ™[ƒ &A¡ [ƒì> ëÎ 27 [i¡ Kà[Øl¡ šàÚ, 

t¡àÒìº 1 [ƒì> ëÎ A¡t¡ "àÚ A¡¹ì¤ ?  

(1) ` 1,08,000   (2) ` 1,80,000  

(3) ` 1,00,800   (4) ` 1,00,080 

 A mechanic earns ` 36,000 on 9 cars. How much will he earn in 1 day, if in a day he 

receives 27 cars ? 

(1) ` 1,08,000   (2) ` 1,80,000  

(3) ` 1,00,800   (4) `1,00,080 

14. ™[ƒ  x : y = 3 : 5,  t¡àÒìº  3x + 4y : 8x + 5y  &¹ ">åšàt¡[i¡ Jòåì\ ¤à¹ A¡¹ç¡>  

(1) 39 : 49   (2) 29 : 50 

(3) 29 : 49   (4) 39 : 50 

 If  x : y = 3 : 5,  find the ratio  3x + 4y : 8x + 5y. 

(1) 39 : 49   (2) 29 : 50 

(3) 29 : 49   (4) 39 : 50 
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15. ™[ƒ 3, 18, m, 42 ">åšàìt¡ =àìA¡ t¡àÒìº m &¹ ³à> [>o¢Ú A¡¹ç¡> 

(1) 6   (2) 54 

(3) 7   (4) 252  

 Find the value of m, if 3, 18, m, 42 are in proportion.  

(1) 6   (2) 54 

(3) 7   (4) 252 

16. &A¡[i¡ NCC A¡¸àì´š, 1200 \> šø[ÅÛ¡oà=¢ã "}Å [>ìZá> ™à¹ ³ì‹¸ 900 \> šø\àt¡”| [ƒ¤Î 

A¡¸àì´š¹ \>¸ [>¤¢à[W¡t¡ ÒìÚìá> ú [>¤¢à[W¡t¡ &¤} [>¤¢à[W¡t¡ >à Ò*Úà A¡¸àìl¡ìi¡¹ Î}J¸à¹ ³ì‹¸ 

">åšàt¡ A¡t¡ ? 

(1) 300 : 120 (2) 4 : 1 (3) 3 : 1 (4) 120 : 130 

 In an NCC Camp, 1200 trainees are participating out of which 900 are selected for 

Republic Day Camp. What is the ratio between the number of selected and  

non-selected cadets ? 

(1) 300 : 120 (2) 4 : 1 (3) 3 : 1 (4) 120 : 130 

17. ™[ƒ &A¡[i¡ ëáìº ` 450 i¡àA¡àÚ &A¡[i¡ ¤Òü [¤[yû¡ A¡ì¹ t¡àÒìº ëÎ 10% ìºàA¡Îà> A¡ì¹ ú 10% 

ºà®¡ A¡¹à¹ \>¸, [¤yû¡Ú ³èº¸[i¡ A¡t¡ Ò*Úà l¡ü[W¡t¡ ? 

(1) ` 500 (2) ` 600 (3) ` 550 (4) ` 525 

 If a boy sells a book for ` 450, he makes a loss of 10%. To gain 10%, what should be 

the selling price ? 

(1) ` 500 (2) ` 600 (3) ` 550 (4) ` 525 

18. &A¡\> ¤¸[v¡û¡, &A¡[i¡ [ÑšA¡à¹ ` 7,500 -ët¡ 20% ºàì®¡ [¤[yû¡ A¡ì¹ &¤} "àì¹A¡[i¡ [ÑšA¡à¹ 

10% ìºàA¡Îàì> ` 8,100 -ët¡ [¤[yû¡ A¡ì¹ú t¡à¹ ì³ài¡ Û¡[t¡ ¤à ºà®¡ [>o¢Ú A¡¹ç¡> ú 

  (1) Û¡[t¡ = ` 300   (2) Û¡[t¡ = ` 350  

 (3)  ºà®¡ = ` 300   (4) ºà®¡ = ` 350 

 A man sells one speaker for ` 7,500 at a profit of 20% and another speaker for  

` 8,100 at a loss of 10%. Find his total loss or profit.  

(1) Loss = ` 300   (2) Loss = ` 350  

(3) Profit = ` 300   (4) Profit = ` 350 
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19. Î¹º A¡¹ç¡> (8 + 4 – 2)  (17 – 12)  10 – 89 = _________ .  

(1) 3950 (2) 411 (3) 412 (4) 3949 

 Simplify (8 + 4 – 2)  (17 – 12)  10 – 89 = _________ . 

(1) 3950 (2) 411 (3) 412 (4) 3949 

20. Î¹º A¡¹ç¡> 0·05 + 1·5  5  10  0·5 = _________ .  

(1) 4·25 (2) 42·5 (3) 0·425 (4) 0·42 

 Simplify 0·05 + 1·5  5  10  0·5 = _________ . 

(1) 4·25 (2) 42·5 (3) 0·425 (4) 0·42 

21. Î¹º A¡¹ç¡> 7 + 5 – 2  (7 + 89) – 94  2 + (33  3 + 9  2 – 7)  11 = _________ . 

(1) 254 (2) – 225 (3) – 235 (4) 245 

 Simplify 7 + 5 – 2  (7 + 89) – 94  2 + (33  3 + 9  2 – 7)  11 = _________ . 

(1) 254 (2) – 225 (3) – 235 (4) 245 

22. &A¡[i¡ AÃ¡àìÎ 20 [i¡ ëáìº¹ KØl¡ *\> 160 ëA¡[\ &¤} ¤àA¡ã 5 [i¡ ëáìº¹ KØl¡ *\>  

50 ëA¡[\ ú AÃ¡àìÎ¹ Î³Ñz ëáìº¹ KØl¡ *\> [>o¢Ú A¡¹ç¡> ú 

(1) 138 ëA¡[\ (2) 183 ëA¡[\ (3) 140 ëA¡[\ (4) 150 ëA¡[\ 

 The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys is 

50 kg. Find the average weight of all the boys in the class.  

(1) 138 kg (2) 183 kg (3) 140 kg (4) 150 kg 

23. &A¡[i¡ Nøç¡ìš 7 \> áày KìØl¡ 226 >´¬¹ ëšìÚìá ú ™[ƒ áÚ\ì>¹ šà*Úà >´¬¹ ™=àyû¡ì³ 340, 

180, 260, 56, 275 &¤} 307 ÒÚ, t¡àÒìº Îœ¡³ áày[i¡ A¡t¡ >´¬¹ ëšìÚìá ëÎ[i¡ Jòåì\ ¤à¹  

A¡¹ç¡> ú   

(1) 160 (2) 162 (3) 163 (4) 164 

 The average marks obtained by 7 students in a group is 226. If the marks obtained by 

six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained 

by the seventh student.  

(1) 160 (2) 162 (3) 163 (4) 164 



BN/LABIHE/6/21 9 – A 

24. &A¡[i¡ ºàÒüì¤ø[¹ìt¡ ¹[¤¤à¹ KìØl¡ 510 \> &¤} ">¸à>¸ [ƒì> 240 \> ìºàA¡ "àìÎ ú ¹[¤¤à¹ 
ë=ìA¡ Ç¡¹ç¡ Ò*Úà 30 [ƒì>¹ &A¡[i¡ ³àìÎ KìØl¡ A¡t¡\> ìºàA¡ "àìÎ ? 

(1) 280 (2) 285 (3) 290 (4) 295 

 A library has an average of 510 visitors on Sundays and 240 on other days. The 

average number of visitors in a month of 30 days starting with Sunday is  

(1) 280 (2) 285 (3) 290 (4) 295 

25. &A¡\> ¤¸ài¡Î³¸à> 17 t¡³ ³¸àìW¡ 87 ¹à> ìÑHà¹ A¡ì¹> &¤} &®¡àì¤ t¡à¹ KØl¡ 3 ë¤ìØl¡ ™àÚ ú  
17 t¡³ ³¸àìW¡¹ š¹ t¡à¹ KØl¡ A¡t¡ ÒÚ ?  

   (1) 36 (2) 37 (3) 38 (4) 39 

 A batsman makes a score of 87 runs in the 17th match and thus increases his average 

by 3. Find his average after the 17th match.  

(1) 36 (2) 37 (3) 38 (4) 39 

26. 1, 3, 5, 7, 9, 11, 13 &¹ KØl¡ A¡t¡   

(1) 7 (2) 8 (3) 7·5 (4) 8·5 

 Average of  1, 3, 5, 7, 9, 11, 13  is 

(1) 7 (2) 8 (3) 7·5 (4) 8·5 

27. ™[ƒ y &¹ x% 100 ÒÚ &¤} z &¹ y% 200 ÒÚ, t¡àÒìº x &¤} z &¹ ³ì‹¸ Î´šA¢¡[i¡ Jòåì\ ¤à¹ 
A¡¹ç¡> ú  

(1) z = x   (2) 2z = x 

(3) z = 2x   (4) z = 3x  

 If x% of y is 100 and y% of z is 200, then find the relation between x and z.  

(1) z = x   (2) 2z = x 

(3) z = 2x   (4) z = 3x 

28. &A¡[i¡ Î}J¸à¹ ƒåÒü-še¡³à}ìÅ¹ &A¡-tõ¡t¡ãÚà}ìÅ¹ &A¡-W¡tå¡=¢à}Å 15 ú &Òü Î}J¸à¹ 40% A¡t¡  
Òì¤ ? 

(1) 140 (2) 150 (3) 180 (4) 200 

 One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that 

number ?  

(1) 140 (2) 150 (3) 180 (4) 200 
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29. ™[ƒ 40 &¹ 15% &A¡[i¡ Î}J¸à¹ 25% &¹ ëW¡ìÚ 2 ë¤[Å ÒÚ, t¡àÒìº Î}J¸à[i¡ A¡t¡      

(1) 14 (2) 16 (3) 18 (4) 20 

 If 15% of 40 is greater than 25% of a number by 2, then the number is  

(1) 14 (2) 16 (3) 18 (4) 20 

30. &A¡[i¡ "àÚt¡ìÛ¡yàA¡à¹ ³àk¡, ™à¹ ìÛ¡yó¡º (area) 700 ¤K¢ [³i¡à¹ &¤} šøÑ‚ (breadth)  

25 [³i¡à¹, ëÎ[i¡¹ íƒQ¢¸ (length) ëÎ[–i¡[³i¡àì¹ Jòåì\ ¤à¹ A¡¹ç¡> ú 

(1) 28   (2) 280  

(3) 2800   (4) 2500 

 Find the length of a rectangular playground in cm whose area is 700 sq.m and 

breadth is 25 m.  

(1) 28   (2) 280  

(3) 2800   (4) 2500  

31. ¹ã>à, Îåìƒ¹ Òà¹ ™t¡, t¡t¡ ¤áì¹¹ \>¸ ` 1,200 Î¹º Îåìƒ ˜o [>ìÚ[áº ú ™[ƒ ëÎ ˜ìo¹ 

ë³Úàìƒ¹ ëÅìÈ Îåƒ [ÒÎàì¤ ` 432 ëƒÚ, t¡àÒìº Îåìƒ¹ Òà¹ A¡t¡ [áº ? 

(1) 3·6   (2) 6 

(3) 18   (4) 10 

 Reena took a loan of  ` 1,200 with simple interest for as many years as the rate of 

interest. If she paid ` 432 as interest at the end of the loan period, what was the rate 

of interest ? 

(1) 3·6   (2) 6 

(3) 18   (4) 10 

32. Q[Øl¡ìt¡ ™J> ÎÞê¡¸à 7:15 i¡à ¤àì\, t¡J> ë™ ìA¡ào[i¡ K[k¡t¡ ÒÚ t¡à¹ >à³ [ºJå> ú 

(1) ÎåÛ¡ ìA¡ào (Acute angle)        (2)  Î³ìA¡ào (Right angle) 

(3)  Ñ‚èºìA¡ào (Obtuse angle) (4)  Î¹ºìA¡ào (Straight angle)  

 Write the name of the angle formed when the clock time is 7:15 pm. 

(1) Acute angle   (2) Right angle 

(3) Obtuse angle   (4) Straight angle 
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33. >ãìW¡¹ ëi¡[¤º[i¡ Kt¡ ¤á¹ [>l¡ü ÒüÚØA¢¡ ÅÒì¹¹ Îì¤à¢ZW¡ t¡àš³àyà ëƒJàÚ ú &Òü ëi¡[¤ìº¹ t¡=¸P¡[º 

¤¸¤Òà¹ A¡¹ç¡> &¤} [>³—[º[Jt¡P¡[º¹ l¡üv¡¹ [ƒ> : 

  [>l¡ü ÒüÚØìA¢¡ ÅÒ¹ Kt¡ ¤áì¹¹ ë³, \åºàÒü &¤} ëÎìŸi¡´¬¹, &Òü [t¡> ³àìÎ¹ KØl¡ Îì¤à¢ZW¡ t¡àš³àyà  

(2 ƒÅ[³A¡ Ñ‚à> š™¢”z) A¡t¡ [áº ? 

³àÎ   \à>å™à¹ã ³àW¢¡ ì³ \åºàÒü ìÎìŸi¡´¬¹ >ì®¡´¬¹ 

Îì¤à¢ZW¡ t¡àš³àyà,  C &¹ 3 9 21 29 24 11 

(1) 21·65C (2) 24·66C (3) 25·52C (4) 26·23C 

 The table below shows the maximum temperatures in New York City last year. Use 

the information in this table and answer the following : 

 What was the average maximum temperature (upto 2 decimal places) of three months 

May, July and September last year in New York City ? 

Month Jan. Mar. May Jul. Sept. Nov. 

Maximum 

temperature, in C 
3 9 21 29 24 11 

(1) 21·65C (2) 24·66C (3) 25·52C (4) 26·23C 

34. ÎA¡àìº, t¡àš³àyà [áº – 10C &¤} &[i¡ ÎÞê¡¸à¹ ³ì‹¸ 3 [l¡[Nø ÒùàÎ ëšìÚìá ú ÎÞê¡¸àÚ t¡àš³àyà 

A¡t¡ [áº ? 

(1) – 7C (2) – 23C (3) – 13C (4) – 12C 

 In the morning, the temperature was – 10C and it decreased 3 degrees by the 

evening. What was the temperature in the evening ? 

(1) – 7C (2) – 23C (3) – 13C (4) – 12C 

35. &A¡[i¡ "àÚt¡ìÛ¡yàA¡à¹ ¤àKàì>¹ íƒQ¢¸ 185 [³i¡à¹ &¤} šøÑ‚ 220 [³i¡à¹ ú &[i¡¹ ³àc¡Jàì>  

4 [³i¡à¹ Î³à> šøìÑ‚¹ ƒå[i¡ ¹àÑzà ¹ìÚìá, &A¡[i¡ íƒìQ¢¸¹ Î³à”z¹àº &¤} ">¸[i¡ šøìÑ‚¹ Î³à”z¹àº ú 

¤K¢[³i¡à¹ šø[t¡ ` 1.25 & ¹àÑzà ëºì®¡º A¡¹à¹ J¹W¡ [>o¢Ú A¡¹ç¡> ú 

(1) ` 3,900 (2) ` 3,010 (3) ` 4,010 (4) ` 2,005 

 A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of 

uniform width of 4 m, one parallel to its length and the other parallel to its breadth. 

Find the cost of levelling the roads at ` 1·25 per sq.m.  

(1) ` 3,900 (2) ` 3,010 (3) ` 4,010 (4) ` 2,005 
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36. &A¡ ël¡[Î[³i¡à¹ Î³à> 

 (1) 1  10–1 [³i¡à¹   (2) 1  10–2 [³i¡à¹  

 (3) 1  102 [³i¡à¹   (4) 1  103 [³i¡à¹ 

 One decimeter is equal to  

(1) 1  10–1 m   (2) 1  10–2 m  

(3) 1  102 m   (4) 1  103 m 

37. ì¹à³à> Î}J¸àÚ, ™[ƒ ìA¡à>* šøt¡ãA¡ (symbol) šå>¹à¤õ[v¡ A¡¹à ÒÚ, t¡àÒìº &¹ ³à> &[i¡ ™t¡¤à¹ 
"àìÎ t¡à [ƒìÚ P¡o A¡¹à ÒÚ >à ú 

(1) Ît¡¸     (2) [³=¸à 

(3)  ¤ºà ™àÚ >à   (4) ƒå[i¡Òü Î³à> 

 In Roman numeration, if a symbol is repeated, its value is not multiplied as many 

times as it occurs.  

(1) True   (2) False  

(3) Cannot say   (4) Both are equal 

38. &A¡[i¡ ¤õìv¡¹ ë™ìA¡àì>à [¤–ƒåìt¡ &A¡[i¡ "‹¢¤õìv¡¹ ¤¸àÎ ‡à¹à K[k¡t¡ ìA¡ào[i¡ A¡t¡ ? 

(1) 45   (2) 180  

(3) 90   (4) 60 

 The angle subtended by the diameter of a semicircle on any point on the circle is 

(1) 45   (2) 180  

(3) 90   (4) 60 

39. &A¡[i¡ ¤Øl¡ Q>ìÛ¡ìy¹ (cube) šø[t¡[i¡ "}Å 44 ëÎ[³ ú ëÎ[i¡ ë=ìA¡ šø[t¡[i¡ 4 ëÎ[³ "}ìÅ¹ Ûå¡‰ 
Q>ìÛ¡y (cube) A¡ài¡à ÒÚ ú t¡àÒìº A¡t¡P¡[º Ûå¡‰ Q>ìÛ¡y (cube) K[k¡t¡ Òì¤, ™à "”zt¡ &A¡[i¡ 
Q>ìÛ¡y (cube) ‡à¹à ë¤[Ê¡t¡ ?  

(1) 888   (2) 729  

(3) 164   (4) 33 

 A big cube has each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from 

that. Then how many tiny cubes will be formed that are surrounded by at least one 

cube ? 

(1) 888   (2) 729  

(3) 164   (4) 33 
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40. 15 ëÎ[³ º ¬́à, 12 ëÎ[³ šøÑ‚ &¤} 8 ëÎ[³ l¡üòWå¡ &A¡[i¡ "àÚt¡ìÛ¡yàA¡à¹ i¡¸àS¡ šåì¹àšå[¹ \ìº ®¡¹à 

Òº ú i¡¸àìS¡ \ìº¹ š[¹³ào (volume) Jòåì\ ¤à¹ A¡¹ç¡> ú  

(1) 180 ëÎ[³3   (2) 1200 ëÎ[³3  

(3) 440 ëÎ[³3   (4) 1440 ëÎ[³3  

 A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with 

water. Find the volume of water in the tank.  

(1) 180 cm3   (2) 1200 cm3  

(3) 440 cm3   (4) 1440 cm3 

 

41. ìA¡à> [¤A¡¿[i¡ìt¡ ®¡N—à}ÅP¡[º ëA¡ "àì¹àÒo yû¡ì³ (ascending order) Îà\àì>à ÒìÚìá ? 

(1) 
8

5
 < 

12

7
 < 

4

3
 < 

16

13
  (2) 

8

5
 < 

12

7
 < 

16

13
 < 

4

3
 

(3) 
8

5
 < 

4

3
 < 

16

13
 < 

12

7
   (4) 

12

7
 < 

8

5
 < 

4

3
 < 

16

13
 

 Which option shows fractions arranged in ascending order ? 

(1) 
8

5
 < 

12

7
 < 

4

3
 < 

16

13
  (2) 

8

5
 < 

12

7
 < 

16

13
 < 

4

3
 

(3) 
8

5
 < 

4

3
 < 

16

13
 < 

12

7
   (4) 

12

7
 < 

8

5
 < 

4

3
 < 

16

13
 

 

42. 945·341 – 1042·792 + 875·435 + 31·025 &¹ ³à> A¡t¡ ? 

(1) 908·004   (2) 810·008  

(3) 795·659   (4) 809·009 

 What is the value of  945·341 – 1042·792 + 875·435 + 31·025  ? 

(1) 908·004   (2) 810·008  

(3) 795·659   (4) 809·009 
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43. Îó¡ì¹ "àÎà &A¡\> ¤¸[v¡û¡ šø=³ 160 [A¡ìºà[³i¡à¹ 64 [A¡[³/Q–i¡à &¤} š¹¤t¡¢ã 160 [A¡[³  

80 [A¡[³/Q–i¡à ë¤ìK °³o A¡ì¹> ú &Òü Îó¡ì¹¹ šø=³ 320 [A¡ìºà[³i¡àì¹¹ KØl¡ K[t¡ (speed) Òº  

(1) 35·55 [A¡[³/Q–i¡à    (2) 36 [A¡[³/Q–i¡à  

(3) 71·11 [A¡[³/Q–i¡à   (4) 71 [A¡[³/Q–i¡à 

 A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The 

average speed for the first 320 km of the tour is  

(1) 35·55 km/hr   (2) 36 km/hr  

(3) 71·11 km/hr   (4) 71 km/hr 

 

44. 2272 &¤} 875 &Òü ƒå[i¡ìA¡Òü &A¡[i¡ 3-[l¡[\i¡ Î}J¸à N [ƒì™ ®¡àK A¡¹ìº, &A¡Òü ®¡àKìÅÈ 
"àìÎ ú N Î}J¸à[i¡¹ [l¡[\i¡ P¡[º¹ ì™àKó¡º Òº   

(1) 10 (2) 11 (3) 12 (4) 13 

 On dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder. 

The sum of the digits of N is 

(1) 10 (2) 11 (3) 12 (4) 13 

 

45. \å[ºÚà¹ Ñ•à> A¡¹ìt¡, Wå¡º "àòW¡Øl¡àìt¡ &¤} \à³àA¡àšØl¡ š¹ìt¡ 
2

1  Q–i¡à ºàìK &¤} ÎA¡àìº¹ 

\ºJà¤à¹ ëJìt¡ 
4

1  Q–i¡à ºàìK ú ÑHæìº¹ \>¸ šøÑñt¡ Òìt¡ \å[º™à¹ A¡t¡ Î³Ú ºàìK 

(1) 
4

3  Q–i¡à (2) 1 Q–i¡à (3) 
4

2  Q–i¡à (4) 
4

5
 Q–i¡à  

 It takes Julia 
2

1
 hour to wash, comb her hair and put on her clothes and 

4

1
 hour to 

have her breakfast. How much time does it take Julia to be ready for school ? 

(1) 
4

3
 hour (2) 1 hour (3) 

4

2
 hour (4) 

4

5
 hour 

 

46. [>³—[º[Jt¡ ì¹à³à> Î}J¸àP¡[º¹ ³ì‹¸ ìA¡à>[i¡ ®å¡º ?  

(1) LXII (2) XCI (3) LC (4) XLIV 

 Which of the following numbers in Roman Numerals is incorrect ? 

(1) LXII (2) XCI (3) LC (4) XLIV 
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47. [A¡l¡ü¤ìÚìl¡ A¡Ú[i¡ t¡º (faces) "àìá ?  

(1) 6 (2) 12 (3) 8 (4) 4 

 How many faces are there in a cuboid ? 

(1) 6 (2) 12 (3) 8 (4) 4 

48. &A¡[i¡ Î³t¡º šõË¡ ™à Î³Ñz [ƒAô¡P¡[ºìt¡ "[>[ƒ¢Ê¡®¡àì¤ šøÎà[¹t¡ ÒÚ t¡àìA¡ ¤ºà ÒÚ 

(1) Î³t¡º    (2) ì¹Jà  

(3) ºàÒü> ëÎKì³–i¡   (4) [¤–ƒå 

 A flat surface which extends indefinitely in all directions is called a  

(1) Plane   (2) Line  

(3) Line segment   (4) Point 

49. ƒå[i¡ š[¹šè¹A¡ ìA¡àoP¡[º¹ (complementary angles) ³ì‹¸ šà=¢A¡¸ 10° ú l¡ü®¡Ú ìA¡àìo¹ ³à> 

Ko>à A¡¹ç¡> ú 

(1) 55, 45   (2) 40, 50  

(3) 50, 60   (4) 100, 90 

 The difference between two complementary angles is 10. Calculate the values of both 

the angles.  

(1) 55, 45   (2) 40, 50  

(3) 50, 60   (4) 100, 90 

50. ë¤P¡>, n¡¸òàØl¡Å &¤} ìšòÚàì\¹ ì³ài¡ *\> 48.057 ëA¡[\ ú ™[ƒ ë¤P¡> &¤} n¡¸òàØl¡ìÅ¹ *\> 

™=àyû¡ì³ 5.35 ëA¡[\ &¤} 24.52 ëA¡[\, ëšòÚàì\¹ *\> A¡t¡ ú  

(1) 17·187 ëA¡[\    (2) 18·187 ëA¡[\  

(3) 17·180 ëA¡[\   (4) 18·180 ëA¡[\ 

 The total weight of brinjal, lady-finger and onion is 48·057 kg. If brinjal and  

lady-finger weigh 5·35 kg and 24·52 kg respectively, find the weight of onion. 

(1) 17·187 kg   (2) 18·187 kg  

(3) 17·180 kg   (4) 18·180 kg 
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[¤®¡àK J / SECTION B 

Îà‹à¹o `¡à> / GENERAL KNOWLEDGE 

51. ™à>¤àÒì>¹ K[t¡ ³àšìt¡ ìA¡à> ™”|[i¡ ¤¸¤Òà¹ A¡¹à ÒÚ ?  

         (1)  Kø¸ì®¡à[³i¡à¹   (2) Ñšãìl¡à[³i¡à¹  

(3)  \àÒüì¹àìÑHþàš       (4)  [A¡ìºà[³i¡à¹  
 Which device is used to measure the speed of vehicles ? 

(1)  Gravometer    (2) Speedometer 

(3) Gyroscope   (4) Kilometer  

52. ìA¡à> ³>åì³–i¡ ë=ìA¡ ®¡à¹t¡ t¡à¹ \àt¡ãÚ šøt¡ãA¡ NøÒo A¡ì¹ìá ? 

(1) A¡à[šºà¤Ññ   (2) Ò[Ñz>àšå¹ 

(3) Îà¹>à=   (4) šà[>št¡ 
 From which monument did India adopt its National Emblem ? 

(1) Kapilavastu   (2) Hastinapur 

(3) Sarnath   (4) Panipat 

53. >ãìW¡¹ ìA¡à> >õìt¡¸¹ Ð¡àÒüìº K¿/[=³[i¡ Î¤Î³Ú ³Òà®¡à¹t¡ &¤} ¹à³àÚØo ë=ìA¡ KõÒãt¡ ÒÚ ? 

(1) ì³à[Ò>ãÚài¡¸³   (2) *[Øl¡[Î 

(3) ®¡¹t¡>ài¡¸³   (4) Aå¡[W¡šå[Øl¡ 
 In which of the following styles of dance is the story/theme always taken from 

Mahabharata and Ramayana ?  

(1) Mohiniattam   (2) Odissi 

(3) Bharatanatyam  (4) Kuchipudi 

54. "à³àìƒ¹ \àt¡ãÚ A¡¸àìº“¡à¹ (ÅA¡à¦) &¹ l¡üš¹ [®¡[v¡ A¡ì¹ Î[k¡A¡ yû¡³à>åÎàì¹ ³àÎP¡[º Îà\à> 
— a-íW¡y b-í¤ÅàJ c-í\¸Ë¡ d-"àÈàØn ¡: 
(1) abcd (2) bcda (3) dacb (4) cdab 

 Arrange the months based on our National Calendar (Saka Era) in correct serial 

order — a-Chaitra  b-Vaishakha  c-Jyaishtha  d-Aashada : 

(1) abcd (2) bcda (3) dacb (4) cdab 

55. >ãìW¡¹ ìA¡à>[i¡ &A¡[i¡ ™å‡ý¡ [¤³à> (combat aircraft) ? 

(1)  ìt¡\Î   (2) ‹øç¡¤ 

(3) ë¤à[Ú} C-17 ìNÃà¤³àÐ¡à¹ (4) ìW¡t¡A¡  

 Which one of the following is a combat aircraft ?  

(1)  Tejas   (2) Dhruv 

(3) Boeing C-17 Globemaster  (4) Chetak 
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56. >ãìW¡¹ ìA¡à> A¡àš/i¡ö[ó¡[i¡ óå¡i¡¤ìº¹ Îàì= Î´š[A¢¡t¡ ? 
(1) ìl¡[®¡Î A¡àš    (2) W¡¸à[´šÚ>Î i¡ö[ó¡¡ 
(3) Îì”zàÈ i¡ö[ó¡   (4) ìƒ*‹à¹ i¡ö[ó¡ 

 Which of the following cups/trophies is associated with football ?  

(1) Davis Cup   (2) Champions Trophy 

(3) Santosh Trophy   (4) Deodhar Trophy 

57. [šòšìØl¡¹à A¡ã®¡àì¤ t¡àìƒ¹ ƒìº¹ [šòšìØl¡ìA¡ [W¡>ìt¡ šàì¹ ? 
(1) ¹} [ƒìÚ   (2) ³åJ [ƒìÚ  
(3) KÞê¡ [ƒìÚ   (4) l¡üZW¡t¡à [ƒìÚ 

 How do ants recognize ants from their group ? 

(1) By colour    (2) By face  

(3) By smell   (4) By height 

58. >ãìW¡¹ ìA¡à>[i¡ ìšà[Âiö¡ Jà³àì¹ KõÒšà[ºt¡ ÒÚ ?  
(1) áàKº (2) ì®¡Øl¡à (3) ³å¹[K (4) ìQàØl¡à 

 Which of the following is domesticated in poultry farms ? 

(1) Goat (2) Sheep (3) Hen (4) Horses 

59. _________ [\®¡ëA¡ "àZáà[ƒt¡ A¡ì¹ ¹àìJ &¤} Jà¤àì¹¹ ¹àÎàÚ[>A¡P¡[ºìt¡ šø[t¡[yû¡Úà \à>àÚ ú 

(1) ëi¡Ð¡ ¤àl¡Î   (2) [Ñ£¡>ôA¡i¡à¹Î  

(3) ƒòàt   (4) â«A¡      
 The ___________ cover the tongue and react to chemicals in food. 

(1) Taste Buds    (2) Sphincters  

(3) Teeth    (4) Skin 

60. Jà¤à¹ Î}¹Û¡ìo¹ Î³ÚØ óø¡ã[\} (freezing) A¡ã A¡à\ A¡ì¹ ? 

(1) Jà¤à¹ [\[>Î Åv¡û¡ ¹àìJ  

(2) Jà¤àì¹¹ Ñ¬àƒKÞê¡ (flavours) t¡à\à ¹àìJ 

(3) ³àÒüìyû¡à-"K¢à[>\³ìƒ¹ ¤àØl¡ìt¡ ëƒÚ >à  

(4) l¡üšì¹¹ ìA¡à>i¡àÒü >Ú 

 What does freezing do when preserving foods ? 

(1) Keeps the food product hard  

(2) Keeps the flavours of the food fresh 

(3) Stops growth of micro-organisms  

(4) None of the above 
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61. l¡öà³[Ð¡A¡ &¤} ³¸àìšìº¹ ¤ã\P¡[ºëA¡ ¤àt¡àÎ ¤×ƒè¹ š™¢”z ¤Ò> A¡ì¹ [>ìÚ ë™ìt¡ šàì¹ A¡à¹o 
t¡àìƒ¹  
(1) l¡à>à™åv¡û¡ ¤ã\ ÒÚ ú     

(2) ¤Øl¡ &¤} ì¹à³Å ¤ã\ ÒÚ ú  

(3) º ¬́à &¤} [Å¹àÚåv¡û¡ ó¡º ÒÚ ú  

(4) Aò¡ài¡àÚåv¡û¡ ¤ã\ ÒÚ ú 
 Seeds of drumstick and maple are carried over long distances by wind because they 

possess 

(1) winged seeds.    

(2) large and hairy seeds.  

(3) long and ridged fruits.   

(4) spiny seeds. 

62. __________ ¹à\Ñ‚àì>¹ &A¡[i¡ '[t¡Ò¸¤àÒã ¤õ[Ê¡¹ \º Î}NøìÒ¹ ìA¡ïÅº ú 

(1) t¡à>A¡à (2) Jà[ƒ> (3) ¤à®¡à[Øl¡ (4) Aå¡Úòà 
 __________ is a traditional rainwater harvesting technique of Rajasthan. 

(1) Taanka (2) Khadin  (3) Bavadi (4) Kuan 

63. >ãìW¡¹ ìA¡à>[i¡ \ìº ‰¤ã®è¡t¡ Òì¤ ? 

(1) ³à[i¡   (2) W¡ìA¡¹ KòåìØl¡à  

(3) [W¡[>   (4) ìt¡º 

 Which of the following will dissolve in water ? 

(1) Soil    (2) Chalk Powder  

(3) Sugar   (4) Oil 

64. >ãìW¡¹ ìA¡à>[i¡ &A¡[i¡ Î}yû¡à³A¡ ì¹àK ? 

(1) l¡àÚàì¤[i¡Î     (2) [W¡ìA¡> šG  

(3) "àºc¡àÒü³à¹   (4) A¡¸àXà¹ 

 Which of the following is a communicable disease ? 

(1) Diabetes    (2) Chicken pox  

(3) Alzheimer’s   (4) Cancer 

65. šàÒàìØl¡ *k¡à¹ \>¸, "à³àìƒ¹  

(1) Îà³ì> c¡åòA¡ìt¡ Òì¤  (2) [šáì> c¡åòA¡ìt¡ Òì¤ 

(3) ìÎà\à Òòài¡ìt¡ Òì¤  (4) šàÅàšà[Å Òòài¡ìt¡ Òì¤ 

 To climb the mountains, we have to  

(1) Bend forward   (2) Bend backwards 

(3) Walk straight    (4) Walk sideways 
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66. 18 Åt¡à¦ãìt¡ ¹à\Ñ‚àì>¹ ¹à\šåt¡ ¹à\à Îà*ÚàÒü \Ú [Î} ‡à¹à [>[³¢t¡ &A¡[i¡ ì\¸à[t¡[¤¢`¡àì>¹ 
"¤\à¹ì®¡i¡[¹¹ >à³ ¤ºå> ú  

(1) ºàº ëA¡Àà   (2) Aå¡tå¡¤ [³>à¹ 

(3) \”z¹ ³”z¹   (4) t¡à\ ³Òº 

 Name an astronomical observatory built in the 18
th

 century by Rajput King Sawai Jai 

Singh of Rajasthan. 

(1) Red Fort   (2) Qutub Minar 

(3) Jantar Mantar   (4) Taj Mahal 

67. _____________ &¹ ³ì‹¸ "®¡¸”z¹ão [Åºà, J[>\ Òüt¡¸à[ƒ ¹ìÚìá ú 

(1) ¤àÚå³r¡º   (2) ¤àìÚà[Ñ£¡Úà¹ 

(3) ìKàºà‹¢   (4) [\*[Ñ£¡Úà¹ 

 _____________ includes internal rocks, minerals, etc. 

(1) Atmosphere    (2) Biosphere 

(3) Hemisphere   (4) Geosphere 

68. ºÛ¡ ºÛ¡ ¤á¹ šèì¤¢ ë™ Kàášàºà &¤} šøàoã¹à ³à[i¡¹ >ãìW¡ W¡àšà šìØl¡ìá t¡àìƒ¹ ëƒÒà¤ìÅÈ [A¡ 
[ÒÎàì¤ š[¹[W¡t¡ 

(1)  ìšàìi¡>[ÅÚàº [¹Îà®¢¡Î  (2) ó¡[Îº óå¡ìÚºÎ 

(3) ¤àìÚà³àÎ óå¡ìÚº   (4) "¸à[>ì³i¡ šà*Úà¹  

 The remains of plants and animals that were buried millions of years ago are known 

as 

(1)  potential reserves   (2) fossil fuels 

(3) biomass fuel    (4) animate power  

69. ¹ÎìKàÀà ___________ &¹ &A¡[i¡ \>[šøÚ [³[Ê¡ ú 
(1) š[ÆW¡³¤U   (2) šàgà¤ 

(3) ìA¡¹àºà   (4) [Ò³àW¡º šøìƒÅ  

 Rasgulla is a popular sweet of ___________ . 

(1) West Bengal    (2) Punjab 

(3) Kerala   (4) Himachal Pradesh  

70. >ãìW¡¹ ìA¡à>[i¡ ®¡à¹ìt¡¹ &A¡[i¡ l¡üš\à[t¡ Î´ßƒàÚ ? 

(1) š[“¡t¡   (2) \àk¡ 

(3) [®¡º   (4) šàgà[¤ 

 Which of the following is a tribal community of India ? 

(1) Pandits   (2) Jaat 

(3) Bhil   (4) Punjabi 
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71. ë³Q ë¤[Å¹®¡àK [A¡ [ƒìÚ ít¡[¹ 

(1) tå¡Èà¹   (2) ‹åìºà 

(3) \ìº¹ ìóòòài¡à   (4) ì‹òàÚàÅà 

 Clouds are mostly made of  

(1) snow   (2) dust 

(3) water droplets   (4) smog 

72. >ãìW¡¹ ìA¡à> ¹W¡>à¹ \>¸ ®¡àÎìƒ¤ ³[ÒìA¡ 29 t¡³ Î¹Ñ¬t¡ã Î´¶à> ëƒ*Úà ÒìÚìá ? 

(1) ºÐ¡ [W¡ºìl¡ö> "àA¢¡àÒü®¡  (2) ìW¡A¡¤åA 

(3) ƒ¸ ëÐö>ô\à¹ l¡àÒü[¹\  (4) & Î} ó¡¹ & [>l¡ü ël¡   

 For which of the following works has Vasdev Mohi been awarded the 29th Saraswati 

Samman ? 

(1) Lost Children Archive (2) Chequebook 

(3) The Stranger Diaries (4) A Song for a New Day  

73. ëA¡ šø=³ ®¡à¹t¡ãÚ [™[> U.N. ë\>àì¹º "¸àìÎ´¬[º¹ ëšø[Îìl¡–i¡ ÒìÚ[áìº> ? 

(1) >i¡¤¹ [Î}   (2) [®¡.ìA¡. Aõ¡Ì¡ ë³>> 

(3) Åøã³[t¡ [¤\Úà ºÜã š[r¡t¡ (4) Åøã³[t¡ Òü[–ƒ¹à KàÞê¡ã 

 Who was the first Indian to be the President of U.N. General Assembly ? 

(1) Natwar Singh   (2) V.K. Krishna Menon 

(3) Smt. Vijaya Lakshmi Pandit (4) Smt. Indira Gandhi 

74. ³à>¤ìƒìÒ¹ [>³—[º[Jt¡ ìA¡à> "}ìÅ Qà³ Nø[”‚ ë>Òü ?  

(1) ³à=à¹ â«A¡   (2) ¤Kº  

(3) ìk¡àòi¡   (4) Òàìt¡¹ t¡àºå 

 In which of the following parts of the human body are sweat glands absent ? 

(1) Scalp   (2) Armpits 

(3) Lips   (4) Palms 

75. A¡¸àUà¹ç¡ Åà¤A¡ìA¡¡ [A¡ ¤ºà ÒÚ ? 
(1) ìó¡àº   (2) ìA¡àÂi¡  
(3) ì\àÒü   (4) A¡à¤ 

 What do we call the young one of a Kangaroo ? 

(1) Foal   (2) Colt 

(3) Joey   (4) Cub 
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[¤®¡àK K / SECTION C 
®¡àÈà / LANGUAGE 

(Ç¡‹å³ày ™à¹à ¤à}ºà ®¡àÈàÚ ëW¡Ê¡à A¡¹ìá t¡àìƒ¹ \>¸) 

>ãìW¡¹ ">åìZáƒ[i¡ šìØl¡ šøÅ¥P¡[º¹ l¡üv¡¹ ƒà* ú¡ 

 A¡[šº¤àÑñ ¹à\¤à[Øl¡ ¡ú ¹à\¹à[> ³àÚàìƒ¤ã ëÎà>à¹ šàºìS¡ Qå[³ìÚ "àìá> ¡ú Qì¹¹ Îà³ì> 
ëJàºà áàƒ, t¡à¹ *šàì¹ ¤àKà>, ÅÒ¹, ³[@ƒ¹, ³k¡ ¡ú "à¹* *šàì¹ — "ì>A¡ ƒèì¹ [Ò³àºÚ 
š¤¢t¡ — Îàƒà ¤¹ìó¡ n¡àA¡à ¡ú "à¹ ëÎÒü šàÒàìØl¡¹ *šàì¹, "àA¡àÅ-\åìØl¡ "àÆW¡™¢ &A¡ Îàƒà 
"àìºà, t¡à¹ ³àìc¡ {Îƒèì¹¹ [i¡ìš¹ ³ìt¡à Îè™¢ l¡ük¡ìá> ¡ú ¹à\à Ç¡ì‡ý¡à‹> &Òü "àÆW¡™¢ "àìºà¹ 
[ƒìA¡ ëW¡ìÚ "àìá>, &³> Î³Ú ³àÚàìƒ¤ã ì\ìK l¡üìk¡ ¤ºìá>, ‘³Òà¹à\, A¡ã W¡³;A¡à¹ Ñ¬š¥Òü 
ëƒJìº³ ¡ú &t¡iå¡Aå¡ &A¡[i¡ ëÅ¬t¡ÒÑzã ¡ú [‡t¡ãÚà¹ Wò¡àìƒ¹ ³ìt¡à ¤òàA¡à ¤òàA¡à A¡[W¡ ƒå[i¡ ƒòàt¡, ëÎ ë™> 
[Ò³àºìÚ¹ *šà¹ ë=ìA¡ ë³ìQ¹ l¡üš¹ [ƒìÚ "à³à¹ ëA¡àìº ë>ì³ &º, t¡à¹š¹ ëÎ ëA¡à=àÚ ëKº 
"à¹ ëƒJìt¡ ëšìº³ >à ¡ú "àÒà, A¡šàìº t¡à¹ {Îƒèì¹¹ [i¡ìš¹ ³ìt¡à &A¡[i¡ [i¡š [áº ¡ú 

 ¹à\à ¹à[> Ñ ¬ìš¥¹ A¡=à ¤ºà¤[º A¡¹ìá>, Òü[t¡³ì‹¸ ÎA¡àº ÒìÚìá, ¹à\¤à[Øl¡¹ >¤;Jà>àÚ 
¤òà[Å¡ ¤à\ìá, ¹àÑzà [ƒìÚ ëºàA¡\> W¡ºàìó¡¹à A¡¹ìá, ³[@ƒ¹ ë=ìA¡ ÅòàJ-Q@i¡à¹ Å¦ "àÎìá, 
"@ƒ¹³Òìº ¹à\ƒàÎã¹à ëÎà>à¹ A¡º[Îìt¡ ³àÚàìƒ¤ã¹ W¡àì>¹ \º tå¡ìº "à>ìá, ³à[º>ã¹à ëÎà>à¹ 
=àºàÚ šåì\à¹ óå¡º P¡[áìÚ ¹àJìá ¡ú ¹à[>¹ ëšàÈà ³Úè¹ áàìƒ &ìÎ l¡üìØl¡ ¤Îº, ëÎà>à¹ JòàW¡àÚ 
Ç¡A¡Åà[¹ Jà¤àì¹¹ \>¸ ƒàÎãìƒ¹ ÎìU c¡KØl¡à Ç¡¹ç¡ A¡ì¹ [ƒìº, [®¡[J[¹ &ìÎ ‘\Ú ¹à[>³à’ ¤ìº 
ƒ¹\àÚ ƒòàØl¡àº ú  

76. ¹à\¹à[> [A¡ìÎ¹ šàºìS¡¡ Qå[³ìÚ "àìá> ? 

(1) A¡àìk¡¹ (2) ìºàÒà¹ (3) ¹ç¡ìšà¹ (4) ìÎà>à¹ 

77. [Ò³àºÚ š¤¢t¡ [A¡ìÎ n¡àA¡à [áº ? 

(1) Aå¡ÚàÅàÚ (2) ì³ìQ (3) Îàƒà ¤¹ìó¡ (4) ‹åìºàìt¡ 

78. Îè™¢[i¡ ëƒJìt¡ ëA¡³> ? 

(1) ìKàºàìš¹ ³ìt¡à   (2) {Îƒèì¹¹ [i¡ìš¹ ³ìt¡à 

(3) "àºt¡à¹ ³ìt¡à   (4) Wò¡àìƒ¹ ³ìt¡à 

79. ³à[º>ã¹à ëÎà>à¹ =àºàÚ [A¡ A¡¹ìá ? 

(1) ®¡àt¡ JàìZá   (2) ®¡àt¡ [ƒìZá 

(3) šåì\à¹ óå¡º P¡[áìÚ ¹àJìá (4) \º [>ìZá 

80. ¹à[>¹ ëšàÈà [A¡ [áº ? 

(1) Òà[t¡ (2) ìQàØl¡à (3) ³Ú>à (4) ³Úè¹ 
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[k¡A¡³ìt¡à Å¦ Îà[\ìÚ ¤àA¡¸ ít¡[¹ A¡¹ ú 

81. (a) "àA¡àìÅ (b) l¡üìk¡ìá (c) šåì¤¹ (d) ¹à³‹>å 
(1) abcd (2) cadb (3) dcba (4) bcda 

82. (a) ìšìÚ[áìº> (b) šå¹ÑHþà¹ (c) ¹¤ã@ƒø>à= (d) ì>àì¤º 

(1) abcd (2) dabc (3) cdba (4) dcba 

83. (a) A¡àº (b) ™à¤ (c) ³àìk¡ (d) ìJºà¹ 

(1) adcb (2) acdb (3) cbda (4) bcda 

84. ¹à³ "à¹ Å¸à³ ƒåÒü ®¡àÒü ¡ú ____________ t¡àìƒ¹ ë¤à>¹ >à³ šà¹ç¡º ¡ú 
(1) t¡¤å (2) ™[ƒ (3) "à¹ (4) t¡àÒü 

85. ¹à\ã¤ "à¹ìÅàºà ___________ ®¡Ú šàÚ ¡ú 
(1) š™¢”z (2) ì=ìA¡ (3) áàØl¡à (4) ìt¡³> 

86. Jà[º ëW¡àìJ Îèì™¢¹ ____________ t¡àA¡àìt¡ ë>Òü ¡ú 
(1) l¡üšì¹ (2) ƒèì¹ (3) A¡àìá (4) [ƒìA¡ 

¤Þê¡>ãìt¡ ë™ [>ìƒ¢Å ¹ìÚìá ëÎ®¡àì¤ ëºìJà ú 

87. "àKà³ã ³àìÎ ët¡à³àìƒ¹ ¤à[Øl¡ _____________ ú ([k¡A¡ Å¦ ëºìJà) 

(1) [KìÚ[á (2) [KìÚ[áºà³ (3) ™à¤ (4) ™à[Záºà³ 

88. ¹à³ ëJìt¡ ____________ ®¡àìºà¤àìÎ ¡ú ([k¡A¡ Å¦ ëºìJà) 

(1) ƒãQ¢ (2) ì³ài¡à (3) Î¹ç¡ (4) Jå¤ 

89. ¹[Ò³ "à³à¹ __________ ®¡àìºà ¤Þêå¡ ¡ú ([k¡A¡ Å¦ ëºìJà) 

(1) Jå¤   (2) Jà¹àš 

(3) ì³àìi¡Òü   (4) [³ì=¸ 

[k¡A¡ l¡üv¡¹[i¡ Jåòì\ >à* ú 

90. Î³à=¢A¡ Å¦ ëºìJà — Îè™¢ ¡ 
(1) [Ò³ (2) îÅº (3) ®¡à>å (4) ÅÅã 

91. [¤š¹ãt¡ Å¦ ëºìJà : "àìºà 
(1) ¹à[y (2) [ƒ> (3) "Þê¡A¡à¹ (4) "àA¡àÅ 



BN/LABIHE/6/21 23 – A 

92. &A¡A¡=àÚ A¡ã ¤ºìt¡ ÒÚ ? 

 ìA¡à[A¡ìº¹ l¡àA¡ 

(1) A¡àA¡[º (2) Aå¡× (3) ìA¡A¡à (4) Aè¡\> 

93. ìi¡[¤º-ëA¡à>ô [ºU 

(1) šå}[ºU (2) Ñ|ã[ºU (3) AÃ¡ã¤[ºU (4) l¡ü®¡Ú[ºU 

94. "à³àìƒ¹ ‘\à[t¡¹ \>A¡’ ____________ (šøÅ¥ì¤à‹A¡ Å¦ ¤Îà*) 

(1) ìA¡³> (2) ìA¡> (3) A¡J> (4) ìA¡ 

95. šå[ºÅ &A¡ __________ ìW¡à¹ ‹ì¹ìá ú 

(1)  š¸àA¡ (2) i¡ã³ (3) ƒº (4) ¤¸àW¡ 

96. [¤š¹ãt¡ Å¦ ¤Îà* — ë³ài¡à 
(1) º ¬́à (2) ì¤òìk¡ (3) Î¹ç¡ (4) l¡üWåò¡ 

97. Î³à=¢A¡ Å¦ ëºìJà — \º 

(1) ¤à[¹ (2) \ã¤> (3) ¤¹ó¡ (4) l¡üƒÚ 

98. ìA¡à>[i¡ Î[k¡A¡ ëºìJà 
(1) ³>ì™àK   (2) ì³àì>àì™àK 

(3) ³ì>àì™àK   (4) ì³à>ì™àK 

Î[k¡A¡ Å¦[i¡ [ƒìÚ Åè>¸ Ñ‚à> šè¹o A¡¹ ú 

99. ëÎ [>Ú³ A¡ì¹ __________ ÎA¡àìº Òòàìi¡ ¡ú 

(1) "àKà³ãA¡àº   (2) Kt¡A¡àº 

(3) šø[t¡[ƒ>   (4) W¡[¤ŒÅ Q@i¡à 

[k¡A¡ l¡üv¡¹[i¡ ëºìJà ú 

100. "à³à¹ ¤à¤à¹ ëáàìi¡à ë¤àì>¹ >à³ Îã³à ¡ú 

Îã³à¹ ¤¹ ®¡¤ìt¡àÈ ¡ú ®¡¤ìt¡àÈ Òìº> "à³à¹ 

(1) ì³ìÎà³ÅàÒü   (2) [šìÎ³ÅàÒü 

(3) A¡àAå¡   (4) \¸àk¡à³ÅàÒü 
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[¤®¡àK Q  / SECTION D 

¤å[‡ý¡³v¡à (Òüì–i¡[ºì\X) / INTELLIGENCE 

101.  šøƒv¡ [Î[¹ì\ &¹ šì¹ A¡ã "àÎì¤ ? 

A, C, F, H, K, M, ....... 

(1) N (2) Y (3) P (4) M 

 What comes next in the given series ? 

A, C, F, H, K, M, ....... 

(1) N (2) Y (3) P (4) M 

102. ¹à×º ìÎà\à šè¤¢ [ƒìA¡ Òòài¡à Ç¡¹ç¡ A¡¹º ú ëÎ &A¡[i¡ [>[ƒ¢Ê¡ ƒè¹â« Òòàìi¡ &¤} t¡à¹šì¹ t¡à¹ 
l¡à>[ƒìA¡ Qåì¹ "à¤à¹ Òòàìi¡ ú ëÎ &J> ìA¡à> [ƒìA¡ ™àìZá ?  

(1) l¡üv¡¹ (2) šè¤¢ (3) ƒ[Û¡o (4) š[ÆW¡³ 

       Rahul started walking straight towards East. He walks a certain distance and then turns 

towards his right and walks again. In which direction is he heading now ? 

(1) North (2) East (3) South (4) West 

103. šøƒv¡ [¤A¡¿ P¡[º ë=ìA¡ ¤¸[t¡yû¡³[i¡ ë¤ìá [>> ú 

(1) ¤à}ºàìƒÅ : i¡àA¡à   (2) ¤øà[\º : [¹ìÚº  

(3) ÎàÒüšøàÎ : l¡ºà¹   (4) Òü¹à> : [¹Úàº 

 From the given options, choose the odd one out.  

(1) Bangladesh : Taka  (2) Brazil : Real 

(3) Cyprus : Dollar   (4) Iran : Rial 

104.  t¡à[>Úà &[¹ìA¡¹ ëW¡ìÚ ¤ÚìÎ ¤Øl¡ ú 
 [AÃ¡ó¡ t¡à[>Úà¹ ëW¡ìÚ ¤ÚìÎ ¤Øl¡ ú 
 &[¹A¡ [AÃ¡ìó¡¹ ëW¡ìÚ ¤ÚìÎ ¤Øl¡ ú 

 šø=³ ƒå[i¡ [¤¤õ[t¡ ™[ƒ Ît¡¸ ÒÚ, tõ¡t¡ãÚ [¤¤õ[t¡[i¡  

(1) Ît¡¸ (2) [³=¸à (3) "[>[ÆW¡t¡ (4) &P¡[º¹ ìA¡à>i¡àÒü >Ú     

 Tanya is older than Eric.  

 Cliff is older than Tanya. 

 Eric is older than Cliff. 

 If the first two statements are true, the third statement is  

(1) True (2) False (3) Uncertain (4) None of these 
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105. šøÅ— [W¡ìÒû¡¹ \àÚKàÚ A¡ã ¤Îì¤ ? 
 10, 100, 200, 310, ?  

(1) 420 (2) 410 (3) 430 (4) 400 

 What will come at the place of the question mark ? 

 10, 100, 200, 310, ? 

(1) 420 (2) 410 (3) 430 (4) 400 

106. A Òº B &¹ ì¤à> ú C Òº B &¹ ³à ú D  Òº C &¹ ¤à¤à ú E Òº D &¹ ³àú t¡àÒìº A 

A¡ã®¡àì¤ D &¹ Îàì= Î´š[A¢¡t¡ ? 

(1) k¡àAå¡¹ƒà   (2) k¡àAå¡¹³à  

(3) ì³ìÚ   (4) >àt¡>ã 

 A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related 

to D ? 

(1) Grandfather   (2) Grandmother  

(3) Daughter   (4) Grand-daughter 

107. &A¡[i¡ [¤ìÅÈ ìA¡àl¡ ®¡àÈàÚ, COMPUTER ëA  RFUVQNPC [ÒÎàì¤ ëºJà ÒÚ ú ëÎÒü ìA¡àl¡ 

®¡àÈàÚ  MEDICINE A¡ã®¡àì¤ ëºJà Òì¤ ? 

(1) MFEDJJOE   (2) EOJDEJFM 

(3) MFEJDJOE   (4) EOJDJEFM 

 In a certain code language, COMPUTER is written as RFUVQNPC. How will 

MEDICINE be written in that code language ? 

(1) MFEDJJOE   (2) EOJDEJFM 

(3) MFEJDJOE   (4) EOJDJEFM 

108. ™[ƒ ƒ[Û¡o-šè¤¢ l¡üv¡¹ ÒìÚ ™àÚ, l¡üv¡¹-šè¤¢ š[ÆW¡³ ÒìÚ ™àÚ Òüt¡¸à[ƒ, t¡àÒìº š[ÆW¡³ A¡ã Òì¤ ? 
(1) l¡üv¡¹-šè¤¢   (2) l¡üv¡¹-š[ÆW¡³  

(3) ƒ[Û¡o-šè¤¢   (4) ƒ[Û¡o-š[ÆW¡³ 

 If South-East becomes North, North-East becomes West and so on, what will West 

become ? 

(1) North-East   (2) North-West  

(3) South-East   (4) South-West 
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109. 45 \> [ÅÛ¡à=¢ã¹ &A¡[i¡ AÃ¡àìÎ, l¡üš¹ ë=ìA¡ "à[³ì¹¹ ¹¸àS¡ 16 t¡³ ú "ìÅàA¡ "à[³ì¹¹ ëW¡ìÚ  
6 ¹¸àS¡ >ãìW¡ ú >ãìW¡ ë=ìA¡ "ìÅàìA¡¹ ¹¸àS¡ A¡ã ?  

(1) 23t¡³ (2) 32t¡³ (3) 24t¡³ (4) 30t¡³ 

 In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below 

Amir. What is Ashok’s rank from the bottom ? 

(1) 23rd (2) 32nd (3) 24th (4) 30th 

110. "Û¡ì¹¹ ìA¡à> ëÎi¡[i¡ šøƒv¡ ëºi¡à¹ [Î[¹ì\¹ óò¡àìA¡ yû¡³à>åÎàì¹ ¤Îìº ëÎ[i¡ Î´šèo¢ Òì¤ ? 
_ ab _ b _ aba _ _ abab. 

(1) abbaa (2) bbaab (3) abaab (4) aaaba 

 Which one set of letters when sequentially placed at the gaps in the given letter series 

shall complete it ? 

_ ab _ b _ aba _ _ abab. 

(1) abbaa (2) bbaab (3) abaab (4) aaaba 

111. [Î[¹\[i¡ ëƒJå> : 2, 1, (1/2), (1/4), ...  

 &¹ š¹ ìA¡à> Î}J¸à[i¡ ¤Îì¤ ?  

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16 

 Look at this series : 2, 1, (1/2), (1/4), ...  

 What number should come next ? 

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16 

112. &A¡Òü Î´šìA¢¡¹ Î[k¡A¡ [¤A¡¿[i¡ ë¤ìá [>> ú 
SCD, TEF, UGH, _________, WKL 

(1) CMN (2) UJI (3) VIJ (4) IJT 

 Choose the correct alternative that has the same relation. 

SCD, TEF, UGH, _________, WKL 

(1) CMN (2) UJI (3) VIJ (4) IJT 

113. ™[ƒ ‘WAY’ 679 [ÒÎàì¤ ìA¡àl¡ A¡¹à ÒÚ, t¡ì¤ ‘MAY’ 579 [ÒÎàì¤ ìA¡àl¡ A¡¹à ÒÚ, t¡àÒìº 

‘YAW’ ëA¡³> ®¡àì¤ ìA¡àl¡ A¡¹à Òì¤ 

(1) 976 (2) 769 (3) 679 (4) 579 

 If ‘WAY’ is coded as 679, ‘MAY’ is coded as 579, then ‘YAW’ will be coded as  

(1) 976 (2) 769 (3) 679 (4) 579 
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114. ™[ƒ ‘+’ &¹ "=¢ ‘‘[¤ìÚàK’’, ‘–’ "=¢ ‘‘P¡o’’, ‘’ "=¢ ‘‘ì™àK’’, ÒÚ t¡àÒìº 10  5 + 3 – 2 A¡t¡ ? 

(1) 24 (2) 52 (3) 9 (4) 10 

 If ‘+’ means ‘‘Minus’’, ‘–’ means ‘‘Multiply’’, ‘’ means ‘‘Add’’, then what is the value of  

10  5 + 3 – 2 ? 

(1) 24 (2) 52 (3) 9 (4) 10 

 

115. Îà¹àì>à : ëÎºàÒü :: Î´šàƒ>à : _________  

(1) [¹óå¡   (2) ë³¹à³t¡  

(3) šàrå¡[º[š   (4) "Ñ‚àÚã  

 mend : sewing : : edit : _________ 

(1) darn   (2) repair  

(3) manuscript   (4) makeshift 

 

116. Åè>¸Ñ‚à> šèo¢ A¡¹ç¡> ú  

ºàKà³ : ìQàØl¡à :: A¡ì–i¡öàº š¸àì>º : _________ 

(1) šàÒüºi¡ (2) [¤i (3) ëšÃ> (4) "àì¹àÒã 

   Fill in the blank.  

rein : horse : : control panel : _________ 

(1) pilot (2) bit (3) plane (4) rider 

 

117. ëÎÒü Å¦[i¡ ë¤ìá [>> ™à Nøç¡ìš¹ ">¸ Å¦P¡[º¹ Åì¦¹ ³ìt¡à >Ú ú 

(1) MS ëšÒü–i¡   (2) ëó¡Î¤åA¡  

(3) ìÒàÚài¡Î"¸àš   (4) iå¡Òüi¡à¹ 

 Choose the word which is least like the words in the group. 

(1) MS Paint   (2) Facebook  

(3) WhatsApp   (4) Twitter 
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118. ë™ Å¦[i¡ "à“¡à¹ºàÒü> A¡¹à Åì¦¹ šøìÚà\>ãÚ "}Å, ëÎ[i¡ ë¤ìá [>> ú 

[Ki¡à¹ 

(1) ¤¸à“¡ (2) [ÅÛ¡A  (3) Kà> (4) [Ðö}Î 

 Choose the word that is a necessary part of the underlined word. 

Guitar       

(1) Band (2) Teacher (3) Songs (4) Strings 

 

 

119.

  

 l¡üš™åv¡û¡ [¤A¡¿[i¡ ë¤ìá [>ìÚ [‡t¡ãÚ ì\àØl¡à[i¡ Î´šèo¢ A¡¹ç¡> ú 

(1)

  

(2)

  

(3)

  

(4)

  

 

  

 Complete the second pair by selecting the appropriate alternative. 

(1)

  

(2)

  

(3)

  

(4)

  

 

120. &A¡\> ¤¸[v¡û¡ 6 [A¡[³ ƒ[Û¡ìo Òòàìi¡>, ¤òà [ƒìA¡ Qåì¹ 4 [A¡[³ Òòàìi¡>, "à¤à¹ ¤òà [ƒìA¡ Qåì¹ 5 [A¡[³ 
Òòàìi¡> ú [t¡[> &J> ìA¡à> [ƒìA¡ ³åJ A¡ì¹ "àìá> ? 

(1) ƒ[Û¡o (2) l¡üv¡¹ (3) šè¤¢  (4) š[ÆW¡³ 

 A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km. 

Which direction is he facing now ? 

(1) South (2) North (3) East  (4) West 
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121. šøÅ— [W¡ìÒû¡¹ \àÚKàÚ ìA¡à> "Û¡¹[i¡ ¤Îì¤ ? 

 

(1) N   (2) O  

(3) P   (4) M 

 Which letter replaces the question mark ? 

 

(1) N   (2) O  

(3) P   (4) M 

 

122. šåì¹à[Òt¡ ®¡v¡û¡ìA¡ ¤ºìº>, ‘‘45 [³[>ìi¡¹ [>Ú[³t¡ [¤¹[t¡ìt¡ Qsi¡à ë¤ì\ *ìk¡ ú ëÅÈ               
Q–i¡à[i¡ 5 [³[>i¡ "àìK ë¤ì\[áº ú šì¹¹ Q–i¡à[i¡ ÎA¡àº 7:45 [³[>ìi¡ ¤à\¤à¹ A¡=à ú’’ 

šåì¹à[Òt¡ A¡J> ®¡v¡û¡ìA¡ t¡=¸[i¡ [ƒìÚ[áìº> ? 

(1) 6:55 am   (2) 7:00 am  

(3) 7:05 am   (4) 7:40 am 

 The priest told the devotee, ‘‘The bell rings at regular intervals of 45 minutes. The 

last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.’’ At what time 

did the priest give this information to the devotee ? 

(1) 6:55 am   (2) 7:00 am  

(3) 7:05 am   (4) 7:40 am 
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123. >ãìW¡ ëƒ*Úà [W¡y[i¡ìt¡ A¡t¡P¡[º [y®å¡\ ¹ìÚìá ? 

   

 

(1) 4 (2) 12 (3) 16 (4) 10 

 How many triangles are there in the figure given below ? 

   

 

(1) 4 (2) 12 (3) 16 (4) 10 

124. &A¡[i¡ ìA¡àìl¡, ‘BOMBAY’ ëA¡ ‘CNNABX’ [ÒÎàì¤ ìA¡àl¡ A¡¹à ÒÚ, t¡àÒìº ‘DELHI’-¹ 
ìA¡àl¡[i¡ A¡ã Òì¤ ? 

(1) EDMJG   (2) GMDEJ 

(3) DEGMJ   (4) EDMGJ 

 In a code, ‘BOMBAY’ is coded as ‘CNNABX’, then what will be the code of ‘DELHI’ ? 

(1) EDMJG   (2) GMDEJ 

(3) DEGMJ   (4) EDMGJ 

125. Åè>¸Ñ‚à> šèo¢ A¡¹ç¡> ú 

 šõ=A¡ : &A¡ãA¡¹o : : ë³¹à³t¡ : _________ 

(1) š‡ý¡[t¡   (2) ‹àB¡à ëƒ*Úà  

(3) Û¡[t¡   (4) ì¤àA¡à ¤à>àì>à  

     Fill in the blank.  

 segregate : unify : : repair : _________ 

(1) approach   (2) push  

(3) damage   (4) outwit 
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¹àó¡ A¡àì\¹ \àÚKà 
SPACE FOR ROUGH WORK 
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¹àó¡ A¡àì\¹ \àÚKà  
SPACE FOR ROUGH WORK 

 


